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1. IBHPWEX

RPN SCRALH AR A BEIE R TR, RSO —Fh i A AR
S FN L SR A 18 0 B R T B SR ) — BB 3o 25 A RIAR YR B B {16 PO 80 A 40 22
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3k
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Bi:P  _ctions: For this part your are allowed 30 minutes to write a composition on the topic Have a
Better Command of Chinese according to the following outline given below ( given
in Chinese) your composition should be no less than 150 words.
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3) PR Al J 12

BELN:

Have a Better Command of Chinese

Nowadays the phenomenon has aroused wide concern that more and more university students have
much trouble using good Chinese, either orally or in paper work. Many employers complain that many
college graduates are not good at written work-some even can’t write a note properly. The public can’t

help wondering what has happened in our education.
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The answer involves many factors. The major one lies in our elementary and secondary schooling.
Now a vast majority of schools adopt standard tests involving a uniform pattern-multiple choices. The con-
sequence is serious: many students become too passive in their study. Worst of all, teachers place too
much emphasis on mechanic memorizing, so that the language learning becomes a dead thing. Another
factor is that our schooling neglects the application aspect. So students find it hard to put book knowledge
to practical use. And our media often appear many wrong uses of Chinese, which also have a misleading
effect on the young.

It is time for society to do something to correct the situation. A larger-scale reform should be carried
out in our schools different levels. Teaching theories and methods should be up-dated to meet the needs of
a new age. Most important of all, students must be aware of the importance of learning Chinese well. It
should be borne in mind that a good command of Chinese is of vital importance to both individuals and the

future of our nation.

2. SRAIEN

AR SCHLBRBR AR SC, e—F M LA G AR I ek o AU SCRR AR th B R 44t — i A
R BOR A AR BT 4R E 12 AR 24 SO, 2R I 6] 1A 55 GRS T AR A S,
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e s G

i : Directions: For this part, you are allowed 30 minutes to write a composition of no less than 150
words based on the following title: How to Solve the Problem of Heavy Traffic?
BEMEN:

How to Solve the Problem of Heavy Traffic?

Today, heavy traffic has been a headache in big cities. It makes people waste much time on the way
home or to office. What’s more, according to a recent survey, millions of dollars are also wasted in traf-
fic each year. So it is necessary to solve this problem.

There are a few solutions to this problem. But the most important one is to lay down more roads so
that it is able to relieve the traffic density and accelerate the flow of traffic. Secondly, more bus lines
should be opened up. If there are enough roads and bus lines available, more people will take the bus
and fewer will drive cars or take taxi. Then the traffic problem will certainly be alleviated. Thirdly, I
think, people should be encouraged to ride bicycles. Riding bicycles cannot only help solve the traffic

problem but also does good to our health. Besides, riding bicycles has no bad effect on environment.
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Traffic problem will continue to exist as more and more people can afford private cars. But with your

help, it may not be so serious any more.
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i : Directions: For this part, you are allowed 30 minutes to write a composition on the topic Should
Firecrackers Be Banned? You should write at least 150 words and you should base
your composition on the outline ( given in Chinese) below.

DA NN R RG34

2) A NN R 5, 47

3) WHIF

[ Suggested key words: firecrackers #fiffi: set off/ let off jift (#iKy) ]

Remember to write your composition neatly.

SEEXN:
Should Fire Crackers Be Banned

Opinions about whether firecrackers should be banned vary from person to person. Some people say
that it is a good thing to set off firecrackers. To them, setting off firecrackers is a traditional means to
celebrate our special days, particularly the Spring Festival. If firecrackers were banned, our festivals
would become too quiet to enjoy.

Others think firecrackers should be banned. In support of their argument, they list many facts to
show that fires are caused by firecrackers, which bring so much damage to people. At the same time,
they say, firecrackers make noise and cause air pollution.

Personally, I am on the side of the latter argument. It is true that firecrackers make our festivals
more enjoyable, but, I think, we can find other forms of entertainment. And also, we can enjoy the
sound of firecrackers by listening to a tape recorder instead of setting them off. In a word, firecrackers
should be banned for the benefit of most people !



4. BERIEX

T A 3L (Situational Writing) JB44 S8 SCgh J2 225K 2 A AR 4 T 48 5 PO 0 — 4 s 1 SR AT 55 4
1 SR AR SC A AT 22 4t B S SRR RBE , PP € SRR 4 6 S B I A O R , R 4
R 450 SR AT B T 45 R A KA SR ITAE S0 25 AR i RE BT 48 A 1 R AR 2 A Ry s e il T X
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IR AR B, B SCRE BRI ZE WK . — B UE, L ST LA A SCRIB B A M SO Bk 2
ERHL

EHFEREXEEBEUATILA:

AR

")/ AR MEER AR P CRA, AL X TR, Bt
FHEHREAREHRELE,

C ERMRMR AL AMAEL L AE 5N EMETE,

c REXFHFHEE E T,
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TR £ X2 F 8%,

C R SR LT PO B AL B AR
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T S e o o RS G an e e E I

% : Directions: For this part, you are allowed 30 minutes to write a composition according to the situation
given below in English. Your composition should be no less than 150 words.
Suppose you, a girl, are going to have an interview with the head of a company, you want to make
a good impression on the manager. So you go to a shop and select a dress carefully, you should start with
the opening sentence: '

I am going to have an interview with the manager of an insurance () company.
SEEN:

Preparing for an Interview

I was going to have an interview with the manager of an insurance company. I had been thinking how
to make a good impression on him. I know I was a qualified secretary. In other words, I could type well
and fast. But of course, appearance was also important. So I believed that I need something to look smart
in the office.

On Sunday morning I went into a shop which sold women’ s clothes. I told the salesman what I wan-
ted and the man picked out a coat for me to try on. I stood in front of a mirror and wanted to find out if
it suited me. I was pleased with the coat and 1 felt satisfied with myself, too. Because I did look smart.
I turned round to take another look. After that I made up my mind to buy it,

With the dress under my arm, I stepped out of the shop. I was confident that T would be the right

one to be chosen as a secretary in the insurance company.
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5. BBIEX
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5| : Directions: Study the following picture carefully and write an essay entitled Chat with friends on

0oICQ

In the essay, you should

1. describe the picture and interpret its meaning

2. give your comment on the phenomenon

You should write about 200 words.

BEWEN:

Chat with friends on OICQ

As can been seen from the picture, nowadays, more and more young people follow and swarm into
the tide of “e-age”. Today, it is increasingly common for Net surfers ( the two fish in the picture) to chat
on OICQ. They even have a new phrase to “Q” somebody

.6

meaning to contact someone on



0ICQ.

The prevalence of OICQ resulted from its absolute advantage over the traditional public chat rooms
which are often chaotic and it is difficult to conduct a focused conversation. What’ s more, OICQ is fa-
vored for one-to-one chat, though it also offers public chat rooms. Compared with other daily communica-
tion tool such as a e-mail and phone, it’s quick, simple and cheaper. A good case in point is that teen-
agers sometimes can’t find anyone in their real life to talk with. There is a generation gap with parents
and teachers and it is not always right to confess to close friends. While chatting on OICQ, no one knows
who you are, and you can conduct concentrated talk without interruptions by other chatters.

However, there are voices against OICQ. Some think it wastes time and energy. Chatting online can
be meaningless if one is addicted to OICQ. You don’t know the guy at the other end of the net, so in
most cases you only talk about things skin-deep: age, sex, location and hobbies etc. Some complain that
they receive too many junk messages on OICQ. I believe we should not blame OICQ. Self-discipline is
indispensable in every aspect of our life.

From what has been discussed above we know OICQ is new media of communication in e-age, as
well as a e-mail and mobile phone. Chat with your friends on 0ICQ and don’t be trapped by OICQ ad-

diction.

6. BRIEX

P RAESCR BT R AG I505 B — R B, A BRSO RS B F X 37 BRI AT B
I —FPTitk o BRAESCAM IR IR B  Fobs %ol S By S0, PR A SCBER A AT 40
AT L B R S B SO F U, SIS R RS iR b B VRO Yo B AT AT A
VAN X LB YA FUBGAE AT (VS o PRI SO T SR T JEirE%R
TESCR LT B A A BGRIE 5 R RS BB — & BB R RARR T B —5E )
B IBYERE S BRI SCEAN RSB B A SIS, ISRt B e A 4, A AT REAER
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EiFERIEXEFTRUATILA:

D

it

SCECCPE - S TP TS S
WA B ATREE A )3 B Aot i,

CERTORAE FE—RHRS  E AR R, 2
PAEA R A A HAE 6 SR 4T 47,

B ERAE X AR — MR XA X AR, 2
R—RA G AN, BB = R X A Bk,
BB AR BRAE, B R R BMik
FB,OMBEBAIEER,
BB RS, R R R i,

R e—
1 : Directions: For this part, you are allowed 30 minutes to write a composition of no less than 150 words
T



on Changes in People’ s Diet. Study the following table carefully and your composition must be based on
the information given in the table. In your composition, you should (1) state the changes in people’s diet
in the past five years, (2) give possible reasons for the changes, and (3) draw your own conclusions. You

should quote as few figures as possible.

Year| 1986 1987 1988 1989 1990
Food
Ghaio 49% % | 46.5% | 45% 45%
Milk 10% 11% 11% 12% 13%
Meat 17% 0% | 22.5% | 23% 21%
il 22% 20% 20% 21%
Vegetables
Total 100% | 100% | 100% | 100% | 100%

XL
Changes in Peoples’ Diet

There have been some changes in the diet of the Chinese. Grain, the main food of most people in
China, is now playing a less important role. On the other hand, the consumption of highly nutritious food
such as milk and meat has increased.

The changes in diet can be accounted for by a number of factors. First, people are much wealthier
than before. With a higher income, they can afford to buy good foods which, in the past, were rarely
seen on the dinner tables of ordinary families. Another factor is that people have realized the importance
of a balanced diet to their health. Lack of certain amount of meat or milk, for example, will result in poor
health. Finally, owing to the economic reform, meat and milk, which were scarce in the past, are pro-
duced in large quantities. For all those reasons, what was formerly called “the basket of vegetables” has
become that of varied foods.

To sum up, insignificant as those changes may seem, they are the signs of the improved economic
condition in China. We believe that as more effort is put into the modernization, there will be greater

changes in people’s diet in the future.

B BER R BRSBTS e

— B B SO R R A, SE B O , IR A S MR, 1B IR, SO R GE R L &
PP, SR B R A A SRS IE F T, B — @ MR SRR, T HARBOR#% A
A& — BB VR , %A RSB PR I R, LR —E BT, BRI EX R
] A HEFEN R BT APESCEE” o
ZBRTAEEESRER

AR IR SCE SR A AE 30 40805 H— R A0 T 150 i8] AYBEIEAE 3L, T 1X 26 SCEE 1 45 0 ZE A
EERRVGEIC, Bl — A UL | AR | BRI F . H AT LR S = B g 7 = g8 £ kAT
‘B V&, B4 3C i1 51 75 Bt (introduction ) | IE 3CB (body ) #1451 B ( conclusion) =B . H—B: 5 H
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X1 B I R, IR [FI A # BE , 32 2650 % Le HEBUIURE | DR %6 F BB FF it 8 s
BB AT BT, 2 A LUV 37 2 M O T S AR P P SRR HE— B 6 , PR Fy R
ROBBEBVFE . XBURRIVI B = BA L, bR F X Rk SR S LR

v B == B A5 48 ¥ 1 S5 4 T A3 P ey S B3 1+ ) P SO R HEAT , e Sk e —
S 10 A, MAKAEIF SHEC (150 W 7647) KM, Ay 7R 4 i gE 10 412 15 A9 L (kA 7
RELAIEE AN I 1) FHORAT ORI o 5 AEAEREF 10 5 15 A)58 B — S AR RER 150 ~ 180
TR B ST, BRAT HE A = B A SO I FR 2 A =B AR SCHE" o KB A 3R A SO 1 52
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e \
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BKA
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W B A S o ) VR AT A2 X b B B s B,

B Berh Al BB AR, St Ay, A (A 3) N E R, B A SO B £, S e R
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Z [ B R AT e
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B AR P BB R R 2, A R T R B . IR R BT LAY B (relevance)
TR B BSOS — Y , B FAE AT 5 SR, s BRI AR A, B2
(i R, A 43 TEH BEARE.
2. ABHERMK

51 SO VSR B R ) T 2 IR B R G , SR R HR BT O , P2 4 bR UL
SRS, B TR T IS HE SRR, AT AU P — 3 P , X e i AL
WA R A T e BRI A 2 5 B2 3 O AR T A M RN A B T I o
3. SHMTERIE

GER SR, 45 S S, 1 B v R A SO T 488 £ A TR R A T 40T (R UGS . ot
R Bk s — R ORI R A B A A A REEBRAME T AL o

e

D 1. AEERGELRSRITRR

iSRG B AR R, BRI AR, B, WS B —ar =,
Gy s B S A AN B E R R HR Sy . RIS A R , BT/ B B 075N KR, A A AR D i
R, 55 R s DR S AR, 5 D KRB A4 ) B B . WL £ A BEA , DRt DR B B R T
IEVRFHARISE /) TR BB, 10 AN/, Ji T 4 B0 IERBHAR, J5 1@ 6 R4 sEhF
O 5 40 R S B R A e 0 2 R S ) B, S T 3 9 A A A [ A Y B R

A s e 5 B iy ST AL 5 B X5 e

1. AN

PR B BB AR 7S IR B T R B R , T e 2 R, DR ] S R AR AR A O R t BRAE A
BERERFHZ P, ME RN ERI K TLT PARESZ X 5 18 K 455 WK, M7 B %1
FETE AN TAE S, BATEAS A B sh iz PP B s i 07 X 28320k B 7 M E IR B o ARHE I
38 o s S BRA A, B R v S OB K TR IR AR B EOR) , BT iU AR, B TRt AR
PiBLRfria FRE SR LRGSR MBI T 275 Pl i 5 RE S SR A 55 395

Hi BN R IRTE T2 AT AR, 357 75 4% 5 1K F) Rk ] 152 B AR KRB — i 1 000 A7) Y 33
SCEE(FEEE A 1349 4] , BRESE — KEIBEZ G B HZSR AR 15 434k ik i) (] 152 42 358 BT
TR 10 EEH o AR LB AT BARMES , B 217 5 A 5 A4 PR B 12 2R 1| 25 , IR A<
VEAERTE E PR B B 1] 22 A SRR o 5T € R 2 T URAR B R ) 2o 7S % 18— 3] 5 3 R L
RS 70 1, AR HEE , B BTN AR | 349 TR BRI 20 43, DR 38— 38 B B (]
WA , A B A 52 4 S IERPHAR, AU 6 NESRBIEHE KB FRT o
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2. BI5%K

7S R X PR ) G A ) ) () B SR A PR U SR KR, BB 1R G . I
SR, BRI IRIG , e R RSO, 30 A 8MESCSE UG , A RBFT i A bRkt (3] S B , 15 4Bt
(] — 381 , RS ] 52 LA P 8RR 3 RV SC— o 2 8 W 2 S VR 2 , 46 ) 10, ARk A R i s i) L
A 1S %0, 22— AT R ER M RT AL , EAR IS bR (5] 35 P A A B R, o AT AR v R 5
JBE ARG R PR B B, At — e B AR IE A A A . — AR IR, R D AR 4 A R, —
13 ( Skimming) , - £ #¥{# ( Scanning) ,

1) BgiE

M SR B B Tl 1 o 0 — Tl S P A PO BB 05 . WY E AL AR 4
KRB, A SCEE A O JEAEL, RARILAN I T R B A A X — o0 JBAE . ZEWS i Rt b, 2 4
LA T U SCRE B 1 BRI B, %o e ) G JLBE , AT LAAR B 000 L B — /3, Bl U8 ) o
MR, S8R IS SCRER 4015 ZE AT IS4 R F B R M £ 8, b B A
PR A1 1]
2)&EiE : _

A SOPR 152, FIME B —RF, A et 2 — b bsl D SR8 75 . SIS I, B IR IE R R A T
R SCRE I PO SRR, A 8 A R IR BT R S B, Rl 18 T TR 4
BB A R AR R R ik S T [ 2 b I AR S S T A )
REARIR LA ST ARV, 45 5 2 5, T WA S o M e PR B A B 2 2 b L SR
JEAF AT EE %R 43 , BEA IR R BT R SE B0 ) T b Fe 528

BTN G5 T DR B R A KR I A 15 43, AR AR, Bt e R WS SR B B2 15, 4
B e A O TR 54, DR 53 B I SATE R4 300 TR ZE A , SRV I — A e R 10 N,
FAHIX 10 DR, ARSI e S S S R, B BN R 4 e Es . BE
R, BRI RN HARLE 30 B2 N TE IR M H SWERZIE , BE B — 4t ], {2 i %
R —ili , B REA WG LR R,

~IB KA A1 i R LA 4 T S

1. HOEBNIUAGEME

BN AR S5 (18RI 565 4 KRBT 44 D B A% 1Y Section A, X — &5 400 1) 22 45 3615
XiEo UG 5 AMREZARSE R )T, B E B A AT 40 B eSS, T8 P o e 2 i 1
HITFHNFETEHE B R A AT

0 1 9 ST RIUBA AACHR I FE I8 20 740 52 AR A AP 9 A L o 780 —— ) s
25 T35 8 DR S SRR AR , 95 B B0 S8 SCAK A 0 5 A 2 T R B 30 ) 4T

RLAJEE B A A AR R EEA LUF 4 ML,

DEBMo XA EGE, B0 30 i B AR B BE 1 0 N2, 2 DL B4R ) 20 Ay
What’s the main idea of the passage?
What’s the appropriate title for this passage?
)BT, — T NESCRBVERE B, 2 465 7T B © MBS 5, 24019 L ) 4 )
XA
s 11 s



What is the author’s reason for ...?
In the author’s opinion, ... results from
According to the passage, the ... is mainly due to
3)JEUTRA, TN e, B R S0, AT S BT, W@ﬁ#ﬁiﬁﬂ?%lﬂ?“iﬁ
What is emplied, but not directly stated?

What can you assume / conclude from the passage?

4)RICRE, TR SR A 1) SO Ia] , b v AR B 1 0 b T SCRYTEBEARAE . XK

R g 1) 7 XA
What does the word “...” mean?
The word “...” could be best replaced by ?
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(DThe major advantage of. . . is

@A characteristic of the information age is that
@The word “liability” most probably means
@The reduction of the possible hazards in food ultimately depends on
®According to the passage ,when and where. . . ?

2) ME X BIAIEN 4G E

FEP B R ALY , B 3 ) T MR SC RO 4045 . ol
To “live a completely sedentary life-style” in the passage means
A)to “live an inactive life” B)to “live a decent life”
C)to “live a life with complete freedom” D)to “live a life of vice”

ARAH AL ARG T SOt — AN 4 2 IBEJI . to live a completely sedentary life-style
B B sedentary — o Weagit, RBAEMHE bR SoH sedentary 3R] SURRAT T o 3X—id 41
B B SCRIE S QR TR, FATTAT BA++++- (If we s0 desire,we can. .. )” T RINZT 5 4
H,— R “ Al (to smoke)” , . F2“ TNV ( drink excessively) ", = B“(FER) A& L4 (refuse to
wear seat belts) ™, PYJ2 “ £z H- 4 B A+ 4 (eat whatever foods we want) ", i J&“live a completely
sedentary life-style” . FTHFA4 (1) 4 ££3, #0 R EURAG, H M4 ISR . BT T 4 A EET BB S 3
B3 4 R0 R A 150 3 k0 3% 3h i W, XEH to live a completely sedentary life-style
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Biltn .

One of the greatest mysteries of the world, for which scientists have been unable to find any satisfac-
tory explanation,is the Bermuda Triangle , sometimes called “The Graveyard of the Atalantic. ” This is an
area of the western Atlantic between Bermuda and Florida, roughty triangular in shape , where since 1945
at least a hundred ships and planes and over a thousand people have disappeared. No wreckage has been
found , no bodies, lifebelts or any other evidence of disaster. It is as if these planes , ships and people had
never existed.

What is the most puzzling feature of the incidents that have occurred in the Bermuda Triangle area?

A) The unexplained wreckage found in the area.

B) The lack of evidence of disaster.

C) The appearance of the wreckage.

D) The disastrous loses in the area.
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The report, prepared with the help of 200 doctors , nutritionists and researchers, is the most compre-
hensive governmental review of the connection between diet and health. Though little in it is really new, its
very heft is impressive. Diet, the report states , helped account for more than two-thirds of the 2. 1 million
deaths in the U. S. last year. Poor nutritional habits are strongly implicated in five of the nation’ s top ten
killers: coronary heart, stroke , atherosclerosis , diabetes and some cancers. Excessive alcohol use is linked
to three other leading causes of death: cirrhosis of the liver, accidents and suicide.

From the passage we can learn that

A)most of the Americans who died last year had a good nutritional habit

B) poor nutritional habits led to over 1.4 million deaths in America last year

C) suicide is the highest killer in American society

D) neither poor nutritional habits nor excessive alcohol use is harmful to our health
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